Math 330 (Number Systems), Section 3 Your name: K E >/

Quiz 3

February 19, 2010

1. Rewrite the following statements using quantifiers

(a) For each natural number n such that 2 divides n the equation z2 + y? = n has an
integer solution.
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(b) There is no natural number n such that for any integer m the equalities n? = —m and
(—n)? = m? hold.
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2. Prove that the statement A = (B = A) is a tautology (always true no matter what logical
values for 4 and B you plug).

L@jfi_s covdvuct o “b/\ﬁ\\'\ ——\»a\o\ﬁ

O

Sk | A (BN
T
T

T

/\LU/Q,‘GDM&. A= (& = A> & o J(?u'éf@ \Daa .

ﬂ‘ﬂ’\"\?
n A3

(r
T
F‘
T




